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¥  2XT7+7Xx7 = (2+7)X77 = 9X7 |=| 63

® 2xX9+5x9 = = =

@ 40X 34+50X 3 = — —

® 8xT7+2x7 = - -

@® 6x2+3x2 = = =

® 30Xx2+70%X2 = = =

® 20X44+40X%X4 = = =

@ 5X5+3X5 = = =

® 3x9+4x9 = = =

@ 6%X8+2x8 = = =

30X5+20X5 = = =
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¥  2X7+7x7 = (2+7)X17 = 9X7 |=] 63
® 2x9+5x9 = (2+5)%X9 = 7x9 |=| 63
@ 40Xx3+50%x3 = (40+50) %X 3 =/ 90x3 |=| 270
® 8x7+2x7 = (8+2)x17 = 10x7 |=| 70
® 6x2+3x2 = (6+3)x2 = 9gx2 |=| 18
® 30x2+70x2 = (30+70) x 2 =/ 100x2 |=| 200
® 20x4+40X%X4 = (20+40) X 4 = 60Xx4 |=| 240
@ 5X5+3x5 = (5+3)X%X5 = 8X5 |=| 40
3X9+4x9 = (3+4)%x9g =l 7x9 |=| 63
@ 6x8+2x8 = (6+2)X8 =/ 8X8 |=| 64
30Xx5+20X5 = (30+20) X5 =| 50Xx5 |=| 250




